Outdoor Product Assembly Instructions

Sierra.015 Round Table to 4 Cube Chairs #XOCT4 Assembly

Your carton will contain:

A Table top
1 piece

B leg

4 pieces

C XLCUBE
Seat
4 pieces

D xB2

Flat bracket
4 pieces

/

E XB3
Connecting bra
4 pieces

Cie;-/"
F TBE

M8x10 screw g
24 pieces

G TBE §

M8x14 screw
8 pieces

VIA SEATING + URBANTIME® ASSEMBLY GUIDES

1

Unpack and prepare your components

Unpack your table, cubes, and brackets.
Place pieces on a soft surface to protect
the finish.

2
Attach brackets to seat

Attach connecting bracket (E) and flat
bracket (D) to seat (C) using two M8x10
screws (F) each.

3
Attach leg to connecting bracket

Attach leg (B) to connecting bracket
(E) using two M8x10 screws (F).

Repeat steps 2 and 3 for remaining
three leg and seat assemblies.

4
Attach legs to table top

Position chair and leg assemblies
so that table top (A) aligns with
upper screw holes on legs.
Attach legs to table top with
eight M8x14 screws (G).

. VIASEATING.COM

b

>/
Xy
-V,

. )

M
_—
e

e

<

O

i"

N
4 -——

1-800-433-6614

I .

™

\

PPN ——

SRR = f

~.:\:~.:;::SI\\\\ ‘
LK MNI

via

SEATING

N

a \

L

URBANTME



